
Dinosaurs ____ (live) on our 
planet 150 000 years ago.

False: 150 000 000 years ago



Some dinosaurs ____ (have) feathers.

True: 
Tyrannosaurus 
Rex had



The chicken and the T-Rex 
____ (be) relatives.

True



Tetrapod _____ (have) 6 toes 
on its legs and 1 tail. 

False: 5 toes



The pterodactyl _____ (be) 
herbivore, because it 

_______ (not have) teeth in 
its beak.   

False: it was 
carnivore



The diplodocus ___ (live) in 
warm forests. It ___ (have) a 

long neck to eat leaves.

True


